Alg2/T1: Simplifying Radicals

Simplifying Radicals

Name Answer Key

Date

1. 225 =15
4, 10\112 = 4047

7. 125x*y® = 5xy?3x

Multiplying Radicals

- 3430
5. 331200 = 63150

8. 3100x *y™ =y?%/100x*

3. 3/4608 = 251144
6. 180 = 6.5
9. 41296 = 6

3200
10. 34/20 - \/__30\/—

13, 4x? . 4x? = Yx* = x

Dividing Radicals

11, 544 /4 = 516
20

14. 310 -3/32 = 3320 = 435

12. 3f125xy® - 3f4x?y® =

3500x°y™ =5x%y’34y?
15. 318 .327 = 3486 - 332
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Adding and Subtracting Radicals
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27. 15/3y
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28. 1043 + 53 = 1543
31 \/Z+\/5:2+\/6
34.32-732=32-732

29. 46 — 1146 = 76
32.32+3¥2-432
35. Yx? +3%x2 = 4[x?

30. \/§+\/§=2\/§
33. 245 +6%B =845
36. Y3x —2%/x = 3x —2%/x



Complex Numbers (Multplying and Dividing)

37, (5+J§)(4—J€)= 38, (7-@)(1-2@): 39, (3+\/§)(9_\/5)=
2056 + 42 - 12 NN 27 -3V5+95-5
2056 + 442 243 7145 -3+ 2415 22+ 65
4 1-V2 _

40'5+J§_ e

4 5-J3  20-43 1-v2 3+v5 _3+5-3v2-410
5143 5-3 25+5y3-53-3 3-56 3+5  943/5-3/5-5
20-4J3 _10-243 3445 342 10

22 11 2

8+\/§_
42'5+Jg_

(8+V3) (5-V6) 40-8/6+5/3-18 40-86+5/3-342

(5+J€) (5-J€) 2556 +5J6 -6 19




